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ʿ̨̬̬̥̥̐̌̌�̡̛̛̪̬̬̖̪̣̖̦́�̦̌�̶̡̨̛̛̥̖̦̭̖̔�̨̛̛̭̣̱̙̦̖̍̏̌
̭�̨̼̖̥̏̔̚�̦̌�̨̥̔

ʿ̨̬̬̥̥̐̌̌�ͨʻʤ�ʪʽʺ˄ͩ

ʽʿʰˁʤʻʰʫʿʫˀʫˋʫʻː�˄ˁʸ˄ʧ ʽʥˎʫʺ�˄ˁʸ˄ʧ
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�ĂůůͲ̶̖̦̯̬
;̸̡̨̨̨̬̱̣̭̱̯̦̐Ϳ

ϯ�ϮϬϬͲϮϬϬ

ʥ̖̚�̛̛̣̥̯̌

ˁ̡̨̬̌́�̨̨̦̖̯̣̙̦̌́
̶̡̛̛̥̖̦̭̔̌́�

̨̨̪̥̺̽
;̸̡̨̨̨̬̱̣̭̱̯̦̐Ϳ

ϭϬ

˄̛̭̣̱̐�̨̨̭̖̥̖̜̦̐�̸̬̏̌̌�
̦̌�̨̥̱̔ ϭϮ

ˁ̨̨̣̭̦̐̌
̡̪̬̖̜̭̱̬̦̯̱̌

ʿ̨̯̬̦̙̌̌�̶̛̪̖̦̯̌̌
̶̡̨̛̛̥̖̦̭̜̔�

̨̭̖̭̯̬̜

ϭϬ�̶̨̪̬̖̱̬̔

y ʰ̴̶̨̨̨̛̦̬̥̦̦̌Ͳ̸̨̭̪̬̦̌̏̌́�̶̡̨̛̦̭̱̣̯͖̽̌́
y ʽ̶̛̛̬̦̐̌̌́̚�̨̼̏̏̌̚��̡̨̭̯̬̖̦̦̜̾��̶̡̨̛̛̥̖̦̭̜̔��
̨̨̛̪̥̺͖

y ʽ̶̛̛̬̦̐̌̌́̚�̨̼̏̏̌̚�̨̨̭̖̥̖̜̦̐�̸̬̏̌̌�̦̌�̨̥̔͘

y ʽ̡̛̦̖̌̌̚�̡̨̭̯̬̖̦̦̜̾�̨̨̛̪̥̺�̦̌�̨̥̱͖̔�
y ʽ̶̛̛̬̦̐̌̌́̚�̶̨̛̛̛̛̭̪̯̣̐̌̌̚͘

y ʽ̨̭̥̯̬͕�̸̛̦̦̖̦̖̌̌̚��̨̨̛̭̣̖̦̍̔̏̌́�̛�̸̛̣̖̖̦́͘

y ʿ̨̯̬̦̙̌̌�̦̌�̨̥̱̔� 
ʦ̸̛̦̱̯̬̥̼̹̖̦̼̖͕�̛̦̱̯̬̖̦̦̼̖̏̏�̶̡̛̛̛̦̻̖͘

ʶ̨̨̛̦̭̱̣̯̯̦̽̌̏Ͳ
̸̨̡̛̛̛̦̭̯̖̭̖̔̌̐�̛̱̭̣̱̐

̡̡̛̛̛̣̦�ʰ̸̛̦̯̖̬̯
ϭϱй�̡̡̛̭̔̌

ʶ̡̛̛̛̣̦�h ̸̛̦̯̖̬̯�̐ ͘�ʤ̣̥̯̼̌�̨ ̛̬̦̱̯̐̌̀̚�̪ ̴̨̨̛̬̖̭̭̦̣̦̼̜̌̽�̱ ̵̨̔�
̛�̨̡̛̦̖̌̌̚�̶̡̨̛̛̥̖̦̭̜̔�̨̨̛̪̥̺�̨̣̦̼̥̍̽�̦̌�̨̥̱̔�̨̡̨̡̼̭̏̏̌Ͳ
̴̶̨̛̛̛̛̣̬̦̦̼̥̏̌�̭ ̶̛̛̛̪̖̣̭̯̥̌̌͘�
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ʿˀʽʧˀʤʺʺˏ�
ʿˀʰʶˀʫʿʸʫʻʰ˔

ʿˀʽʧˀʤʺʺˏ�
ʿˀʰʶˀʫʿʸʫʻʰ˔

ʿˀʽʧˀʤʺʺˏ�
ʿˀʰʶˀʫʿʸʫʻʰ˔

ʤ̨̨̨̛̦̣̬̺̖̐̐̏́�̸̛̬̏̌
�̛�̸̛̬̏̌Ͳ̡̭̪̯̼̾̌


